1%
o

2 A

A

M-8 SRI(310) - MRAY - BeS sl e HlRE2
i 3,041,366 3,013,839 27,527
Al 61,000
- 2,980,366
HE M 2,369,805 2,309,319 60,486
Al 61,000
- 2,308,805
AL &5 L F=UNEA HE(FUHE SEIAH) 2,369,805 2,309,319 60,486
Al 61,000
- 2,308,805
FAHANEE=TE =0 L 2el 376,674 510,300 A 133,626
101 21 244| 15,385 14,581 804
04 JItHI22XRSE+ 15,385 14,581 804
O F=xE 2gEx 15,385
-2 53,160 x1H+211 11,217
- RERdsE 53,160 »1H «532 2,818
- VAL EEREE S 14,035,000 *2.82% 396
- A28 RE=s 14,035,000 *4.5% 632
- 1EEERES 14,035,000& *1.4% 197
- MHEERES 14,035, 000& *0.705% 99
- LI QYEERESZ 396,000 «6.55% 26
201 Et2Ed| 18,706 18,646 60
01 AtR2tel 17,866 17,866 0
O HEFIA 330&*1000H =12 396
O XA 90,0003 3 A+12& 3,240
O ZDE(HAAEIA) 33,000 x5 x 128 1,980
O AMZFHI=XtA 5,500 «50 x 128 3,300
O FAXNEEF=XE ot 200,000& «20H 4,000
O dold Zely &Y 270,000 *5H 1,350
O F=Xgs AEINE BlH==2
10,000,000& «3%*12& 3,600
02 23244l 840 780 60
O FHNHEEFINE X &I 2=
70,0003 123 840
303 T3 300 0 300
01 ZE4&= 300 0 300
O F=XUHHEE B2 53 Ald 100,000 «3H 300
307 21Ztol 313,956 348,554 A 34,598
05 BIZtR &= 313,956 348,554 A 34,598
O FAXNEE(2Y) FXE Q2SR 2 313,956
- LAEIE 574,056,000& +0.5 287,028
- LF=XE 67,320,000& 0.4 26,928




SN DEHHD
Hu: pEsE M
Pl EXAIE EHE L FXNEA HY (T SEIH) (el &2
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- T - = S = o = 0:”/&,% Wsa
308 AMXSHHSOIA 3,327 3,519 A 192
05 AXESHHZ2HEEZ2 3,327 3,519 A 192
O ZES=INHEBEANAY SERANEE2
3,327,000 13| 3,327
401 AlEHI L 24| 25,000 25,000 0
01 Al&H]| 25,000 25,000 0
O FANEE(EBYE) =XE 24 L 2e|
500,000 =104 2 5,000
O FAHANEE(2Y) =& A7 20 &X4]
2,000,000 * 1000 2 20,000
Ol =XAIYE =& 63,556 64,036 A480
Al 42,000
- 21,556
201 B2 A | 2,706 3,186 A480
01 At 22|l 1,350 1,350 0
O dolMd T2y &Y 270,000 «53| 1,350
02 22349 1,356 1,836 A480
O DBIE=XAIY (Z2=2C9]) CCTV 2y AlE2
33,000& *x3CH*12& 1,188
O JeIEIAIYG(BB=C9) CCTV I3
7,000 *x2CH *12& 168
203 S 2 F=&lH| 850 850 0
03 Al ZR QA2 =Y 850 850 0
O =X 8= & =48 1,000, 0003 *85% 850
307 8I2t0| & 60,000 60,000 0
Al 42 000
- 18,000
02 DI2tAAE X 60,000 60,000 0
O DBI=XAFY (OHE D) 60,000,000& 60,000
Al 42,000
- 18,000
SHFEAEI NE o= 335,320 309,590 25,730
101 12| 153,832 146,264 7,568
4 J|12tMZ22NSE 4 153,832 146,264 7,568
O SYFEI HHZHRs EX 153,832
- o2l 53,160 x211 «10H 112,168
- =252+ 53,160 *53L «10H 28,175
- ZOIAHAULEEHEEZ 140,343,000 *2. 82% 3,958
- Z0AZEEEHZ 140,343,000 *4 . 5% 6,316
- I8 3 140,343,000& *1.4% 1,965
- AMHEEREEZ 140,343,000 *0.705% 990
- Lo eAdBEgEEH=
3,958,000 *6.55% 260
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SN DEHHD
F: NEsddE M
Pl EXAIE EHE L FXNEA HY (T SEIH) (el &2
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
201 LBr2g | 137,988 121,226 16,762
01 At 2teltl 65,220 57,330 7,890
O FEXEE AEA 1253 x8,00000 =122 12,000
O FUHEM HE 2= 125&*10,00004*23] 2,500
O =EXtL B8 89 100, 000& *200H 2,000
O =EXRL AHMSKA 55,000& 100 A 5,500
O FEXRILEs /A= FIAA
1252 %24, 00004 3,000
O LHERFUMESXAM 21stE 2t
200,000& x4EZ+12& 9,600
O DHERWUAIMEXA 2stsE &
200,000& x62] 1,200
O =EXNE[AME ogtE Zet gl &Y
200,000 x4 & +63] 4,800
O Zely &4 200,000& x62] 1,200
O F=HXHH EXI(A3) 40,0003 58 A 200
O =FXcts FNE (M) 17,0003 #1024 A 170
O Jtoilet gtdiel 3,000& *50H 150
O It H229t=(128M) 40,0003 *54 200
O =xHs8 32 1,000 & *60H 24 120
O =Xt=sE 3&= 20,0003 = 1504 300
O =FXUHERF 22= 100,000& 10 »32] 3,000
O FEXNHERA et 70,0003 x10H4 »23| 1,400
O FENHZRA Yet=s 100,000& *10H 1,000
O FENHZRA 2L 7,000 *30H 23| 420
O FEUHEZRA 29 30,000& 10 300
O o2t EHX HAHE S2 24
7,000 x6H »130 5,460
O =&EX &=E3t0et ==l
100, 000& *7CH*23] 1,400
O #28 2RY FUNERY 2249
50,0003 x3¥ 20 3,000
O & 2RY =JASL28 2249
50,000 *3H *30 4,500
O doXtg exz 1,800,000& 1,800
02 2324l 72,768 63,896 8,872
O Rolct=JtMatH(AsS) HUAESE
176,000 *14CH* 123 29,568
O Roct=3tnet(+8) AUHUAMESE
50,000 *4CH=12& 2,400
O Ro=Jtbet 8lIes
45,0002 x17CH*=12& 9,180
O Soe=E3tMet #Hl |l
1,000, 000& *15CH 15,000




SN DEHFD
Nu: pEuE e
Tl EXAIE BE Y FHEMN HEY(EUE SLIH) CEERE
SN HB SR (BIH) - A - B S 0l &b S D=2
= = FAG - BES &5 Ofl & 04 ree
O 249 =X SX 232
2203 66,000 14,520
O 2dI AE2e3 35,000& x5CHx12& 2,100
401 A& Bl 2 CHYI 40,000 40,000 0
01 A& HI 40,000 40,000 0
O EYFIX RUCSFH(LEE) XA
40,000,000 * 17 2~ 40,000
405 RHekFE S| 3,500 2,100 1,400
01 AL =S HEH| 3,500 2,100 1,400
O =8F=EX &©5ot0et #&dl
300,000& *5CH 1,500
O A XNIE8 &Il 28l 400,000 +5CH 2,000
=ZX B DEHE 20 = 230,356 217,676 12,680
101 21 24| 30,768 29,254 1,514
04 JI12HHZ22NSEs 30,768 29,254 1,514
=X PEtUEE MEdHe s BX 30,768
- QIR 53,1603 211 »2H 22,434
- FeRdsE 53,1603 x53L x2H 5,635
- FUALEERELE S 28,069,000 *2.82% 792
- I0UAIEEHRE = 28,069,000& *4.5% 1,264
- VEEERYES 28,069,000 *1.4% 393
- MHEERES 28,069,000& *0.705% 198
- LoD QYBEREES  792,000& *6.55% 52
201 ZEt2FH| 189,308 176,095 13,213
01 AtR2tel 57,308 44,095 13,213
O dold Zelyd &4 319,000& *53] 1,595
O DtEig XA 70,0002 #5802 A 40,600
O AXNA &=l 173 %862, 5000H 14,663
O RSdgsE & k=== 3,000& 1504 450
02 32244 132,000 132,000 0
O 1NN 282 220& *600,000AH 132,000
303 &= 10,280 10,827 ANBAT
01 &3 10,280 10,827 ABAT
O =ZX2Et Mg MEN H= Zoz 10,280
- FEE 1EX HEN A+ 2oz
68,000,000 *1% 680
- WEE 28X HEN A+ Zas
70,000, 000 *3% 2,100
- UEE 3EX MEH A Zis
150,000, 000& *5% 7,500
NSt MEHE MEXe HSE X g3 55,668 0 55,668
Al 19,000




EX: nSHA D
Hu: pEsE M
Pl EXAIE EHE L FXNEA HY (T SEIH) (el &2
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- 36,668
101 @1 2| 15,328 0 15,328
04 D12t 22 NsEE 4 15,328 0 15,328
O NsSAHZHENEE MEXNSE Haso X8 X 15,328
- o1 53,160 x1H »210L 11,164
-8Sa§dx4 53, 160& x 1 x53 2,818
- ZoIALEEHEEZ 13,982,000 *2.82% 395
- Z2OIHZEEEEZ 13,982,000 x4 . 5% 630
- NEa8gs8a2 13,982,000 *1.4% 196
- A EEEE=2 13,982,000 *x0.705% 99
- Lo RAEEREEZ 395, 000& *6.55% 26
201 LBr2 2| 2,340 0 2,340
01 At 2t2| HI 1,500 0 1,500
O X MY Hs UEAAE ST E4H|
300,000& 300
O BHas® IXs & 100, 0002 *23| 200
O s 99X 8 §0t 100, 000& = 100H 1,000
02 22294 840 0 840
O ADIEE GXAIAE SA 22
35,000 x2CH *x12& 840
405 AHAFS| S 38,000 0 38,000
Al 19,000
- 19,000
01 ANt EEFH S HI 38,000 0 38,000
O X EHE HE daSsA|lA8 Ax
33,600,000& 33,600
Al 16,800
- 16,800
O ADIEE EX AlAE 2=
2,200,000& *23| 4,400
Al 2,200
- 2,200
FE2A ANEZ2 8K & B4 130,000 155,000 A 25,000
201 Bt A | 2,000 2,000 0
01 AP 22l ] 2,000 2,000 0
O JMHEAOISEHS 2845
100, 000 = 100H 1,000
O XNEAHOISEHs EER0=
50& %20, 0000H 1,000
305 &2 S 3,000 3,000 0
01 BHAZ S 3,000 3,000 0
O XNEAHOIZAIEZE Lol 24=2 3,000,000& 3,000
307 8Iz2t0| A 2,000 2,000 0




SN DEHHD
M wsdE e
Hel =XAIE 25 2 FUHEM B (FUHE SE3A) (el &)
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
0 & 24
02 QI H A2 X 2,000 2,000 0
O HENDY 29 ¥ DSUFDS K&
2,000,000& 2,000
401 Al EHIL 2OHY| 123,000 148,000 A25,000
01 A& HI 123,000 148,000 A 25,000
O =/X 7L &% L B2
2,600& *30,000m 78,000
O XN&EH =X €X € 2=+ 15,000,000& 15,000
O NMEHEZ A= |X 22l 30,000,000 30,000
ol gl gl , 178,231 ,052,717 125,514
801 oilHlH , 178,231 ,052,717 125,514
01 Ol HIH ,178,231 052,717 125,514
O ollgldl 1,178,231,000& , 178,231
HY2IZH (DRSS ) 671,561 704,520 A 32,959
IAAH(FXE SE3IH) 624,801 657,760 A 32,959
IFARHHI(FXE SE3H) 624,801 657,760 A 32,959
101 21 244| 607,641 563,646 43,995
01 2= 544,512 506,252 38,260
O s 380,341
- 632 3,225,900 x2H 128 77,422
- 7= 2,914,000 x2H «12& 69,936
- 8= 2,587 ,600& «7Hx12& 217,359
- 9= 1,302,000& x1H 123 15,624
O ad= 31,696
- 32+ 380,341,000% / 128 *50%+23| 31,696
O E2+Eittt= 13,920
- 2040l & 100,000& 9 123 10,800
- 158014 20& 018t 80,0003 x1H«12& 960
- 58014 102018t 50,000& x1H +128 600
- A2 F0Kt=3 1,560
2530 & 30,000 x2H 128 720
203014k 25018 10,0003 «7H«12& 840
(ORW) E=E=] 8,760
- <X 40,0002 x10E 123 4,800
- HAEHIS 20,0003 15« 12& 3,600
- RS 30,0002 x1H«12& 360
O MHSHI 2= 4,074
- 3w 62,4003 »2H »43] 500
- 1sSsu 446, 7003 2 *43] 3,574
O s
380,341,000 /128 +4. 1%+ 128 15,594
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SN DEHFD
M Hy2ITH(nsSHF D)
Etel: QI HHI(F=XE SE3H)
SN B ER(B) - MRAY - BAS &y e
O Jlsgd=2+¥ 20,000 x1E+12& 240
O JI=d3E+Yltet= 20,000 x1E*12& 240
O AN2a2fsE 32,892
- 62 8,0433 x2& x30A[ 2t+12& 6,439
-72 8,0783 x2& «x30A| 2t+12& 5,817
- 82 7,252 7T E*30Al 2k + 123 18,276
- 9= 6,5553 x1& 30Al 2F*12F 2,360
O A4 130,000& 12 *12& 18,720
O EFIH 380,341,000 / 128 »60%*23! 38,035
03 I HAsZ2HE = 63,129 57,394
O F=XtetsE 63,129
- =5 1,196,910& x2E 123 28,726
- Jlg=g 1,436,290 »2& «1& 2,873
- s 1,440
B < Xt 40,0003 «2EH =128 960
A== 20,0003 «2Z «12& 480
- JHAIE X8I 60,0003 x2H x 12 1,440
- A4l 110,000& »2E x12& 2,640
- WS 2 x| 140,000& ~2E 122 3,360
- SEFOH 1,436,200 x2H +2& 5,746
- LIS At 50,000 «2Z x12& 1,200
- A2t 2R4E 10,3303 2F*25A1 2t+ 128 6,198
- 52 RFE 82,6603 x2H x2& x 12 3,968
- B82S 5,533
LRSS
57,591,000 *2.82% 1,625
=S E2ERE= 57,591,000& *4.5% 2,592
LE2ERE=s 57,591,000 *1.4% 807
MHEERES 57,591,000& *0.705% 407
LI RAESERE=
1,625,000& *6.55% 107
204 AP =HAH| 17,160 17,160
02 g 2 & 17,160 17,160
O AsExH| 17,160
- 65 155,000& »2H 123 3,720
-7 140,000& »2& =123 3,360
- 8=2~9= 105,000& »8E x12& 10,080
(F=XE SE3H) 46,760 46,760 0
HERE SalH) 46,760 46,760 0
2ot & 10,160 10,160 0
AP Z2IHI 10, 160 10, 160 0
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